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AL BNEL s GROSS | HDCP | NET i) JNEGL ZEAL o GROSS | HDCP | NET fifi#
D) T = 44 44 9.6 34.4 41 fir | K #EE 47 47 8.4] 38.6
g & 43 43 8.4] 34.6 42 fir | ;0 5 47 47 8.4] 38.6
_ Hig 5 47 471 12.0, 35.0 43 fif | #1 B— 47 47 8.4] 38.6
(L | KR 3T 46 46| 10.8] 35.2 544))& EB 7 47 471 8.4| 38.6
(5)hr |13 wFa) 40 40 4.8{ 35.2 40)hr | )l B 47 47, 8.4 38.8
(6)fir | e A sk 39 39 3.6/ 35.4|BG 46 fiL | H7E EE 46 46 7.2| 38.8
(D |\ Hikk 44 44| 8.4] 356 47 fir A K 57 57 18.0{ 39.0
()[BT B 49 49| 13.2] 35.8 48 i | ok % 45 45| 6.0] 39.0
(9)fir | it i 43 43 7.2] 358 49 fi7 | &8 PEfn 45 45/  6.0] 39.0
(LML | KR {5 46 46| 9.6, 36.4 Go)fir | 5A AE 51 51/ 12.0] 39.0
17 [ B &) 52 52| 15.6! 36.4 51 fir | =0 Rl 51 517 12.0] 39.0
12 fir | E@ #34 46 46 9.6 36.4 52 i | fAly EE— 50 50 10.8] 39.2
13 {if | 588 AT 39 39 2.4] 36.6 53 fi | Mim H|H 50 50{ 10.8| 39.2
14 {7 | P HE HE 45 45 8.4| 36.6 54 {if | FEFS R 44 44 4.8| 39.2
(5){iz | JIs E— 44 44 7.2] 36.8 Go) hr | AME R 44 44 4.8| 39.2
16 {if |# %5 43 43 6.0/ 37.0 56 fir | #IL % 49 49 9.6| 39.4
17 i [#2H EE 42 42 4.8/ 371.2 57 fir | i %03 49 49 9.6] 39.4
18 fir | F% F R 42 42 4.8| 37.2 58 fi | BkfE FoA 45 45 4.8| 40.2
19 {7 | #f4 5L 48 481 10.8] 37.2 59 fif | 3I{E Xk 45 45 4.8 40.2
GOz | Iin ¥k 18 48| 10.8] 37.2 (G0)hr | 1L RFE 50 50|  9.6| 40.4
21 {ir | AR £l 12 42| 4.8| 37.2 61 {i | ¥F E 44 44| 3.6| 40.4
G | T a7 47| 9.6 37.4 62 {ir | #%4T FoRk 50 50/ 9.6| 40.4
23 {i | A3k E& 47 47 9.6] 37.4 63 AL | EfE IE 50 50 9.6| 40.4
24 {if [T Fel 46 46 8.4/ 37.6 64 {iL | KA HEE 49 49 8.4] 40.6
(@5) iz [ #2)1] FuslE 46 46| 8.4| 37.6 (62 fir | &7 Me—En a7 470 6.0] 41.0
26 A7 | R B 16 46| 8.4 37.6 60T | LA IR 46 46 4.8 41.2
27 P EFAR X 51 51| 13.2| 237.8 B TH EE 42 42 0.0{ 42.0
28 fir | PR fhi— 45 45 7.2] 37.8 EB MR i 53 53| 10.8] 42.2
29 fir | = KZ 51 51f 13.2| 37.8
(0) i [ Aol #4 57 570 19.2] 37.8
31 4% B 57 57/ 19.2] 37.8
32 fr | BEE JHIK 50 50/ 12.07 38.0
fir 1K &k 50 50 12.0 38,0
34 7| = & 49 49| 10.8} 38.2
(35) fiz |t i 49 491 10.8] 38.2
36 fir (FE IET 54 54{ 15.6] 38.4
37 {0 EH B 48 48 9.6/ 38.4
38 {7 |TJEA B 48 48 9.6] 38.4
39 i (M it 48 48 9.6{ 38.4
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